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1.  Which of the following requires a fixed reference point to measure?

A. The size of on object
B. The mass of an object
C. The motion of an object
D. The color of an object
2.  Tugboat A is pulling with 500 newtons of force in an eastern direction.  
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If another tugboat is attached and starts pulling to the west with a force of 300 newtons, what change will occur in the motion of tugboat A?

A. Tugboat A will move east faster

B. Tugboat A will move east more slowly

C. Tugboat A will start moving west

D. Tugboat A will stop moving

3.  Which of the following statements is an inference?

A. I noticed that most birds appear during warm days.
B. The largest bird population appears in the spring,
C. Temperature affects the number of birds in an area.
D. When it is cold, I noticed few or no birds are around.
4.  Which of the following describes the organization of the structures that make up multicellular living organisms from most simple to complex?


A.  cells, tissues, organs, organ systems


B.  organ systems, organs, tissues, cells


C.  cells, organs, tissues, organ systems


D.  tissues, cells, organs, organ systems

5.  Which of these statements about the rock outcropping below is not true?

A.   Layer R is younger than Layer M.
B. Layer I is older than Layer B.

C.  Intrusion H is younger Layer F.

D. The entire Layer R is older than Intrusion H.
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